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SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
ot EZ 6,091,550 5,195,693 895,857
ARl otE 25t 1,521,000 1,631,000 A 110,000
MHetzedis 23 (Hg2ellla) 1,521,000 1,631,000 A 110,000
Metzte| g2 &2l 1,521,000 1,631,000 A 110,000
201 L2l 261,000 261,000 0
01 At 22l 261,000 261,000 0
Ogt=&H| 61,000
—CHEAMND oY BEES WA 12,000
- NHEE ALY S HEEES M
= 2,000,000& »23| 4,000
AN EERE EESE MEA(EAM. 2L, U
4 8) 2,000,000& »43| 8,000
—EZ=20, 20U =S (HIX, &3, 490t
g) 2,000,000& x33| 6,000
— ZZUH A& XE OtAT P2
3,500& *2,0000H 7,000
— ALY EA0tAT P2
2,000& =3,0000H 6,000
—A2Z HMExgE MeErd(gdstzs) 2
10,000& *3,000 X CH 30,000
Ogxs 200,000
—2==7 Fd gX=  20,000,000& x103] 200,000
401 A& HIZ 201 Y| 1,200,000 1,310,000 A 110,000
01 A& HI 1,200,000 1,310,000 A 110,000
Ot g5 & 28=72 1,050,000
—FAEANES EH & B+
20,000,000 * 1504 A 300,000
—MHIIHAIE S5+
50,000,000 * 1504 2 750,000
OMHUE 22 AId=2 X & =+ 150,000
—HHZE, OPAE S &3 € B+
50,000,000 =34 2 150,000
405 XHoHF S HI 60,000 60,000 0
01 HatE ESFH S 60,000 60,000 0
OMHMeass & A8 23 2324l
20,000,000& =33l 60,000
HWReas(MHt2el2) 4,570,550 3,564,693 1,005,857
SBAEXE(ML2201Z) 4,570,550 3,564,693 1,005,857
Met2eldlz X3 4,570,550 3,564,693 1,005,857
602 G Xl 2 4,570,550 3,564,693 1,005,857
01 OIxl= 4,570,550 3,564,693 1,005,857
O 8EAE WX= 1,019,533,000& *15% 152,930
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